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7 JLO—)L(g) X 2.4 kcal/g +
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N Bt BEM | EOFEHY| w|AK  |95th%TILE| 5th%TILE | /)N

AN E 4 < 08| 002 0 0000f 000) 1171 -39.995
02 L\%&U’CAJ#}*E 32 -0.19 0.08 0.05 -2.09 -5.14
B VL1 £ RO i 13 . 004 ..034 | . o R o). 70.01
L =L - 06| -012) 000f 000) -082]| -1.55
o OB R i 28| ... 000....005 005, -004| -0.04
ESEXE 248 -0.04 1.99 0.00 -0.17 -1.92
L A E 2= - R 110 .. 000 .....077/ ..005 -010/  -0.90
08|=DC %A 28 0.01 0.18 0.15 -0.08 -0.14
09[=%E 36 0.02 0.21 0.10 -0.04 -0.05

10| 458 274 -0.05 0.00 0.00 -0.22 —2.24
Rk 124 -0.19 0.00 0.00 -1.23 -2.60

12| B[f%E 11 -0.98 0.00 — - -9.68
13|3L58 47 -0.13 0.33 0.00 -0.63 -4.04
14|;MA5%E 20 -0.25 0.00 0.00 -2.91 -3.03

15| EF58 108 -0.02 0.02 0.00 -0.13 -0.22

16| LaFERFI A 46 -0.31 0.02 0.01 -2.68 -4.83

17 [FRRE R OB ERSE 83 -0.05 0.01 0.00 -0.42 -0.83

18| M I B MR 0 - 0.00 — - 0.00

it 1362 -0.11 1.99 0.00 -0.36 | -35.95
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KFESHL  -36.0 kcal/day: A\ (BFHABE:470.2)
F= 0 -9.7 kcal/day- A (FL:48.4)
Cohlyvt  -5.1kcal/day: A (RL:23.3)
FiaH -4.8 kcal/day- A (RAL:14.3)

HEEFEL -4.0 kcal/day- A (RIL:44.8)
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